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A. 1.84 mol
B. 0.92 mol
C 0.92mol
D 0.92 mol 1.84 mol
n( H,S0,) =18.4 mol/LLx0.1 L =
1. 84 mol 1. 84 molH,SO
A
Cu +2H,S0,( ) CuSO, +S0, 1 +2H,0
1
H2 SO4 7 X
1.84 mol = 0. 92 mol.
H,SO, H, SO, H, SO,
H, SO, 1. 84 mol;
H,S0, 0.92 mol.
Co
5 Zn 100 mL
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18.5 mol /L 7Zn
X 33.6 L.
1L pH=1.
( ) o
A. 1.8 mol H,SO,
B. X SO, H, 4:1
C. 97.5 gZn
D. 3 mol
pH =1 c(H") =
0.1 mol/L 0. 05 mol

18.5 mol/L x0.1 L -
0.05 mol=1.8 mol A ;
X SO, H,

Zn +2H,50,( ) ==ZnS0, +S0, T +2H,0

Zn +H,80,( )=—=ZnSO, +H, |
SO, H, 1 mol Zn
1 mol X n( Zn) =n( X) =n(ZnSO,)
33.6L
=22 4L/mol 0 ™ Zn

m(Zn) =1.5 mol x65 g/mol =97.5 g C
© 7Zn-2e —Zn’"
n(e’) =1.5 mol x2 =3 mol D ;
n( S0,) =

1.8 mol — n(ZnSO,) = 1.8 mol — 1.5 mol =

0.3 mol  n(H,) =1.5mol 0.3 mol =1.2 mol;
V(S0,): V(H,) =0.3 mol: 1.2 mol =1:4
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